o] A A L] AFelA Aol TE &
=f(z)9] Ze =zt A< y=7f"'(a)9] 12>
7HT7} 303, 2 WAL zFHE P’%’w‘ -1, 1

u117
20+4b—10c 2] F= T3 (5 a, b, ¢ Aeolt)) [44]

=
12
ot

{0 = (@AmE-4) (A8 (pA+g)

Py = -2- =% —4-(P+p) = -|

@ = -l 2% @ptg)= |
|

Fw) j('%) 20

Moy -Ha <0
Z

202

YE= 2k b |
LL%:_.L = = .77
e =-z 22 )

=15, _B
ST
= —69
(23

$0) = P4y =y =0 . @ =-1 . f=] & 7%91-

Heoy -

(7}) 5 °]ske] R A noll sl
Zf )f (n+1) o]},

(th) n=3, 4 o, 3= fz) oA z2] ko] nellA]
n+27kA W wf o] U sE2 oFrt oprh

128 % f(%)ﬂ] e AL

o [44]
V") -F (.b‘:-) -n 'b M{ D
(.l) =10
foy ++@ = i(z) ]E =4 to-@,
iy +T@) +fn = (a) () 2.

F0y + Ha) +f0n + 3440 = o f (5) «\
£0y + Ha) +£00 + 14 +6) = TE)F(e)

pornt. @ge) 3| | ﬂg,g:ulz.ph_\ 82
D (n$ 243 24) — (13 Hr2)

var2 G e LR

.[:0:1 = {‘-mﬁ—(g) {5(4-)} [F&) = o] (22 &)
) — P4 =0 °B f) =0

F© -+ @) = (heo)olw u %) f5) =0, F®=0
£y = $@  fum - Foal [T = 0] A wh)
16 = fe) } Fed =% [f2) =0 or f5) —f@= 1
F@ =) §+e) - F0f [f@r =0 o ) -F0=1

$01) =0 . §(4) =02 2R [ 4o1R] Ao~k

(43%ea% 27)2|)
D H»n = 0
m f@ =
Foy = 4‘-(1)%@ o fo =0 (WARE- 2 b7
@) $6) - ) = |
fon=00y [f=-1 |[f@ = |

@+ - = |

W F =0(x) F4) =0°ley f(2) =0 Ho|nk 23| x
@) $G) - = |

0 =) o [T =01Fm = |

siztol] 2ot WES dots| 7| (7)) =Xl 2tel

(s 7 D)

743‘ 25F2) 2amm 0 V|23 5]

12

12

\kﬂ—'-@a =5 =0 .fw= Fm=1for

fiH = ‘FH‘) =f(H)=0 .'f'(z)=-\.‘F(b)=|




